Table 1.
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4 52 L 32 |38 |2 |3 |cortical |- v - N,
6 56 |R 48 |41 |2 |2 |sub- - () |- \ (s)
cortical
10 49 L 15 32 2 1 cortical - - - -
11 54 L 12 |51 |2 |3 |cortical |- () |- \
12 54 |L 20 |64 |0 |4 |unknown |V - v -
14 88 |R 84 |61 |1 |3 |cortical |V - v -
15 60 |L 36 (48 |2 |3 |sub- \ - \ v (s)
cortical
18 57 IR 60 |38 |2 |3 |cortical |- V) W \
19 47 L 72 |55 |2 |4 |sub- N v \ \
cortical
20 52 |R 100 (28 |2 |3 |cortical |- - - \
25 58 |R 42 |49 |1 |3 |unknown |V - v -
27 49 R 28 |49 |2 |4 |mixed - \ V() [V (s)
29 63 |R 18 |58 |1+ |4  |unknown |V - v -
30 74 L 15 (63 |0 |3 |cortical |V V) W V (s)
31 65 L 82 |32 1 |2 |unknown |- v - N
32 71  |R 17 62 |0 |4 |cortical |V - v -
33 49 L 52 |39 (2 |1 |sub- v - - -
cortical
Mean 58.7 R=8 431 475 29 c¢=8,s5=4, |9 8 10 10
SD 10.8 279 118 10 M=1 both= both=
2 5




